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2
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question)

d{kk%&d{kk%&d{kk%&d{kk%& 12 oha12 oha12 oha12 oha Class 12th

fo"k;%&fo"k;%&fo"k;%&fo"k;%& HkwxksyHkwxksyHkwxksyHkwxksy Subject:-Goegraphy
le;%&le;%&le;%&le;%& 3 ?k.Vs3 ?k.Vs3 ?k.Vs3 ?k.Vs Time:- 3 Hours
iw.kkZ ad%&iw.kkZ ad%&iw.kkZ ad%&iw.kkZ ad%& 75757575 Maximum Marks :-  75

funs Z’k%&1]funs Z’k%&1]funs Z’k%&1]funs Z’k%&1] iz’u Øekad 1 ls 6 rd ds mRrj  vf/kdre 30 ’kCnksa es nhft, A izR;sdiz’u Øekad 1 ls 6 rd ds mRrj  vf/kdre 30 ’kCnksa es nhft, A izR;sdiz’u Øekad 1 ls 6 rd ds mRrj  vf/kdre 30 ’kCnksa es nhft, A izR;sdiz’u Øekad 1 ls 6 rd ds mRrj  vf/kdre 30 ’kCnksa es nhft, A izR;sd
iz’u ds fy, 2 vad vkacfVr gS Aiz’u ds fy, 2 vad vkacfVr gS Aiz’u ds fy, 2 vad vkacfVr gS Aiz’u ds fy, 2 vad vkacfVr gS A

 2] 2] 2] 2] iz’u Øekad 7 ls 12 rd ds mRrj  vf/kdre 50 ’kCnksa esa nhft, Aiz’u Øekad 7 ls 12 rd ds mRrj  vf/kdre 50 ’kCnksa esa nhft, Aiz’u Øekad 7 ls 12 rd ds mRrj  vf/kdre 50 ’kCnksa esa nhft, Aiz’u Øekad 7 ls 12 rd ds mRrj  vf/kdre 50 ’kCnksa esa nhft, A
izR;sd iz’u ds fy, 3 vad vkacfVr gS AizR;sd iz’u ds fy, 3 vad vkacfVr gS AizR;sd iz’u ds fy, 3 vad vkacfVr gS AizR;sd iz’u ds fy, 3 vad vkacfVr gS A

 3] 3] 3] 3] iz’u Øekad 13 ls 17 rd ds mRrj  vf/kdre 75 ’kCnksa es nhft, Aiz’u Øekad 13 ls 17 rd ds mRrj  vf/kdre 75 ’kCnksa es nhft, Aiz’u Øekad 13 ls 17 rd ds mRrj  vf/kdre 75 ’kCnksa es nhft, Aiz’u Øekad 13 ls 17 rd ds mRrj  vf/kdre 75 ’kCnksa es nhft, A
izR;sd iz’u ds fy, 4 vad vkacfVr gS AizR;sd iz’u ds fy, 4 vad vkacfVr gS AizR;sd iz’u ds fy, 4 vad vkacfVr gS AizR;sd iz’u ds fy, 4 vad vkacfVr gS A

 4] 4] 4] 4] iz’u Øekad 18 ls 21 rd ds mRrj  vf/kdre 120 ’kCnksa es nhft, Aiz’u Øekad 18 ls 21 rd ds mRrj  vf/kdre 120 ’kCnksa es nhft, Aiz’u Øekad 18 ls 21 rd ds mRrj  vf/kdre 120 ’kCnksa es nhft, Aiz’u Øekad 18 ls 21 rd ds mRrj  vf/kdre 120 ’kCnksa es nhft, A
izR;sd iz’u ds fy, 5 vad vkacfVr gS AizR;sd iz’u ds fy, 5 vad vkacfVr gS AizR;sd iz’u ds fy, 5 vad vkacfVr gS AizR;sd iz’u ds fy, 5 vad vkacfVr gS A

 5] 5] 5] 5] ekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS Aekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS Aekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS Aekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS A
 6] 6] 6] 6] vko';drkuqlkj js[kkfp= cukb, Avko';drkuqlkj js[kkfp= cukb, Avko';drkuqlkj js[kkfp= cukb, Avko';drkuqlkj js[kkfp= cukb, A

Instruction:-
1. Anwser the question No. 1 to 6 in maximum words limit 30 words.

Each question carries 2 marks.
2222. Anwser the question No. 7 to 12 in maximum words limit 50 words.

Each question carries 3 marks.
3. Anwser the question No. 13 to 17 in maximum words limit 75 words.

Each question carries 4 marks.
4. Anwser the question No. 18 to 21 in maximum words limit 120 words.

Each question carries 5 marks.
5. Map showing question no.22 in 5 marks.
6. Draw the diagram/ sketches wherever necessary.

iz’u 1&iz’u 1&iz’u 1&iz’u 1& ekuo Hkwxksy ds tud dkSu gS \ekuo Hkwxksy ds tud dkSu gS \ekuo Hkwxksy ds tud dkSu gS \ekuo Hkwxksy ds tud dkSu gS \
Who is father of human geography?

iz’u 2&iz’u 2&iz’u 2&iz’u 2& ekuo Hkwxksy ls vki D;k le>rs gS \ekuo Hkwxksy ls vki D;k le>rs gS \ekuo Hkwxksy ls vki D;k le>rs gS \ekuo Hkwxksy ls vki D;k le>rs gS \
What do you understand by human geography ?
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iz’u 3&iz’u 3&iz’u 3&iz’u 3& tula[;k foLQksV D;k gS \tula[;k foLQksV D;k gS \tula[;k foLQksV D;k gS \tula[;k foLQksV D;k gS \
What is population explosion  ?

iz’u 4&iz’u 4&iz’u 4&iz’u 4& ekuo fodkl ds fy, mRrjnk;h nks vk/kkj Hkwr [kfutksa ds uke fy[k, Aekuo fodkl ds fy, mRrjnk;h nks vk/kkj Hkwr [kfutksa ds uke fy[k, Aekuo fodkl ds fy, mRrjnk;h nks vk/kkj Hkwr [kfutksa ds uke fy[k, Aekuo fodkl ds fy, mRrjnk;h nks vk/kkj Hkwr [kfutksa ds uke fy[k, A
Name two minerals responsible for numan development.

iz’u 5&iz’u 5&iz’u 5&iz’u 5& xzkeh.k cLrh ds vjh; izfr:i dk js[kkfp= cukb, Axzkeh.k cLrh ds vjh; izfr:i dk js[kkfp= cukb, Axzkeh.k cLrh ds vjh; izfr:i dk js[kkfp= cukb, Axzkeh.k cLrh ds vjh; izfr:i dk js[kkfp= cukb, A
Draw the sketch of radial pattern of rural village.

iz’u 6&iz’u 6&iz’u 6&iz’u 6& ok;q ifjogu dks izHkkfor djus okys dkjdksa dks fcUnqokj fyf[k, Aok;q ifjogu dks izHkkfor djus okys dkjdksa dks fcUnqokj fyf[k, Aok;q ifjogu dks izHkkfor djus okys dkjdksa dks fcUnqokj fyf[k, Aok;q ifjogu dks izHkkfor djus okys dkjdksa dks fcUnqokj fyf[k, A
Write in point wise about the factors affecting the air-transport.

iz’u 7&iz’u 7&iz’u 7&iz’u 7& tula[;k forj.k ,oa ?kuRo esa D;k vUrj gS \tula[;k forj.k ,oa ?kuRo esa D;k vUrj gS \tula[;k forj.k ,oa ?kuRo esa D;k vUrj gS \tula[;k forj.k ,oa ?kuRo esa D;k vUrj gS \
Compare between population distribution and density ?

iz’u 8&iz’u 8&iz’u 8&iz’u 8& thodksiktZu Ñf"k fdu {ks=ksa esa dh tkrh gS \thodksiktZu Ñf"k fdu {ks=ksa esa dh tkrh gS \thodksiktZu Ñf"k fdu {ks=ksa esa dh tkrh gS \thodksiktZu Ñf"k fdu {ks=ksa esa dh tkrh gS \
 In what areas the subsistence agriculture done?

iz’u 9&iz’u 9&iz’u 9&iz’u 9& O;kikj larqyu D;k gS \O;kikj larqyu D;k gS \O;kikj larqyu D;k gS \O;kikj larqyu D;k gS \
What is Trade balance?

iz’u 10&iz’u 10&iz’u 10&iz’u 10& fldqM+rs gq, fo'o dh vo/kkj.kk dks le>kb, AfldqM+rs gq, fo'o dh vo/kkj.kk dks le>kb, AfldqM+rs gq, fo'o dh vo/kkj.kk dks le>kb, AfldqM+rs gq, fo'o dh vo/kkj.kk dks le>kb, A
Explain the concept of sinking world.

iz’u 11&iz’u 11&iz’u 11&iz’u 11& Hkkjr esa tula[;k o`f) ij laf{kIr fVIi.kh fyf[k, AHkkjr esa tula[;k o`f) ij laf{kIr fVIi.kh fyf[k, AHkkjr esa tula[;k o`f) ij laf{kIr fVIi.kh fyf[k, AHkkjr esa tula[;k o`f) ij laf{kIr fVIi.kh fyf[k, A
Write a short note on growth of population in India.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& ou laj{k.k ds mik; crkb, Aou laj{k.k ds mik; crkb, Aou laj{k.k ds mik; crkb, Aou laj{k.k ds mik; crkb, A
Describe the tehniques of forest conservation..

iz’u 13&iz’u 13&iz’u 13&iz’u 13& fuEukafdr jkT;ksa esa fyxkuqikr ds vkadM+k s dks ljy LrEHk vkjs[k }kjkfuEukafdr jkT;ksa esa fyxkuqikr ds vkadM+k s dks ljy LrEHk vkjs[k }kjkfuEukafdr jkT;ksa esa fyxkuqikr ds vkadM+k s dks ljy LrEHk vkjs[k }kjkfuEukafdr jkT;ksa esa fyxkuqikr ds vkadM+k s dks ljy LrEHk vkjs[k }kjk
iznf'kZr dj fyaxkuqikr larqyu ds mik; crkb, Aiznf'kZr dj fyaxkuqikr larqyu ds mik; crkb, Aiznf'kZr dj fyaxkuqikr larqyu ds mik; crkb, Aiznf'kZr dj fyaxkuqikr larqyu ds mik; crkb, A

jkT;jkT;jkT;jkT;   dsjy  dsjy  dsjy  dsjy  mRrj izns'k mRrj izns'k mRrj izns'k mRrj izns'k     iatkc    iatkc    iatkc    iatkc    NRrhlx<+    xqtjkr   NRrhlx<+    xqtjkr   NRrhlx<+    xqtjkr   NRrhlx<+    xqtjkr

fyaxkuqikrfyaxkuqikrfyaxkuqikrfyaxkuqikr
¼izfr gtkj¼izfr gtkj¼izfr gtkj¼izfr gtkj   1058  1058  1058  1058    898   898   898   898 874874874874 990990990990 921921921921
iq:"kks ij½iq:"kks ij½iq:"kks ij½iq:"kks ij½
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Show the sex-ratio data of different states of india with the help of a simple
bar-diagram. Tell what can be done to achieve sex-ratio balance?

   State Keral  U.P         Panjab         C.G.               Gujrat

     Sex ratio
(Per thousand           1058  898 874 990 921
      male)

iz’u 14&iz’u 14&iz’u 14&iz’u 14& xzkeh.k cLrh ,oa uxjh; cLrh esa vUrj fyf[k, Axzkeh.k cLrh ,oa uxjh; cLrh esa vUrj fyf[k, Axzkeh.k cLrh ,oa uxjh; cLrh esa vUrj fyf[k, Axzkeh.k cLrh ,oa uxjh; cLrh esa vUrj fyf[k, A
Write down differences between rural and urban settlements.

iz’u 15&iz’u 15&iz’u 15&iz’u 15& ^^ykSg v;Ld fodkl dh tuuh gS** A bl dFku dh iqf"V dhft, A^^ykSg v;Ld fodkl dh tuuh gS** A bl dFku dh iqf"V dhft, A^^ykSg v;Ld fodkl dh tuuh gS** A bl dFku dh iqf"V dhft, A^^ykSg v;Ld fodkl dh tuuh gS** A bl dFku dh iqf"V dhft, A
"Iron ore is the mother of development" explain with statement.

iz’u 16&iz’u 16&iz’u 16&iz’u 16& gfjr Økafr D;k gS \ fdl Qly ds fy, vf/kd fgrdkjh fl) gqbZ gS Agfjr Økafr D;k gS \ fdl Qly ds fy, vf/kd fgrdkjh fl) gqbZ gS Agfjr Økafr D;k gS \ fdl Qly ds fy, vf/kd fgrdkjh fl) gqbZ gS Agfjr Økafr D;k gS \ fdl Qly ds fy, vf/kd fgrdkjh fl) gqbZ gS A
What is green revolution ? For which crop is useful the revolution.

vFkok vFkok vFkok vFkok (OR)

Hkkjrh; Ñf"k dh leL;k,a ,oa funku crkb, AHkkjrh; Ñf"k dh leL;k,a ,oa funku crkb, AHkkjrh; Ñf"k dh leL;k,a ,oa funku crkb, AHkkjrh; Ñf"k dh leL;k,a ,oa funku crkb, A
What are the problems of agricaltures in India and how solve the problems

iz’u 17&iz’u 17&iz’u 17&iz’u 17& ^fp=dksV tyizikr* dks NRrhlx<+ dk ^U;kxzk* dgrs gS] D;ksa \^fp=dksV tyizikr* dks NRrhlx<+ dk ^U;kxzk* dgrs gS] D;ksa \^fp=dksV tyizikr* dks NRrhlx<+ dk ^U;kxzk* dgrs gS] D;ksa \^fp=dksV tyizikr* dks NRrhlx<+ dk ^U;kxzk* dgrs gS] D;ksa \
Why  ‘The Chitrakot Waterfall’ is called the ‘Niagr a of chhattisgarh. ?

vFkok vFkok vFkok vFkok (OR)

egkunh dks ^^NRrhlx<+ dh thou js[kk dgrs gS**] D;ksaegkunh dks ^^NRrhlx<+ dh thou js[kk dgrs gS**] D;ksaegkunh dks ^^NRrhlx<+ dh thou js[kk dgrs gS**] D;ksaegkunh dks ^^NRrhlx<+ dh thou js[kk dgrs gS**] D;ksa
Why is Mahanadi called the lifeline of chhattisgarh ?

iz’u 18&iz’u 18&iz’u 18&iz’u 18& m|ksxksa ds fodkl esa f}rh;d ,oa r`rh;d O;olk; fdl izdkj lgk;dm|ksxksa ds fodkl esa f}rh;d ,oa r`rh;d O;olk; fdl izdkj lgk;dm|ksxksa ds fodkl esa f}rh;d ,oa r`rh;d O;olk; fdl izdkj lgk;dm|ksxksa ds fodkl esa f}rh;d ,oa r`rh;d O;olk; fdl izdkj lgk;d
gS \ le>kb, AgS \ le>kb, AgS \ le>kb, AgS \ le>kb, A
How is secondary and tertiary profession helpful in the growth of
industries ? Explain.
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iz’u 19&iz’u 19&iz’u 19&iz’u 19& izkÑfrd lalk/kuksa dk oxhZdj.k dj mnkgj.k lfgr le>kb, AizkÑfrd lalk/kuksa dk oxhZdj.k dj mnkgj.k lfgr le>kb, AizkÑfrd lalk/kuksa dk oxhZdj.k dj mnkgj.k lfgr le>kb, AizkÑfrd lalk/kuksa dk oxhZdj.k dj mnkgj.k lfgr le>kb, A
Classify the natural resources and explain then with examples.

iz’u 20&iz’u 20&iz’u 20&iz’u 20& Hkkjr esa lwrh oL= m|ksxks a ds LFkkuh;dj.k ,oa fodkl ds dkjdksa dksHkkjr esa lwrh oL= m|ksxks a ds LFkkuh;dj.k ,oa fodkl ds dkjdksa dksHkkjr esa lwrh oL= m|ksxks a ds LFkkuh;dj.k ,oa fodkl ds dkjdksa dksHkkjr esa lwrh oL= m|ksxks a ds LFkkuh;dj.k ,oa fodkl ds dkjdksa dks
le>kb, Ale>kb, Ale>kb, Ale>kb, A
Explain the reason of localisation and factores of development of cotton
textile Industries in India ?

vFkok vFkok vFkok vFkok (OR)

Hkkjr esa ykSg bLikr m|ksxksa ds LFkkuh;dj.k ,oa fodkl ds dkjdksa dksHkkjr esa ykSg bLikr m|ksxksa ds LFkkuh;dj.k ,oa fodkl ds dkjdksa dksHkkjr esa ykSg bLikr m|ksxksa ds LFkkuh;dj.k ,oa fodkl ds dkjdksa dksHkkjr esa ykSg bLikr m|ksxksa ds LFkkuh;dj.k ,oa fodkl ds dkjdksa dks
le>kb, Ale>kb, Ale>kb, Ale>kb, A
Explain the reason of localisation and factores of development of Iron
and Steel Industries in India ?

iz’u 21&iz’u 21&iz’u 21&iz’u 21& NRrhlx<+ ds izeq[k lhesaV m|ksxksa dk o.kZu dhft, ANRrhlx<+ ds izeq[k lhesaV m|ksxksa dk o.kZu dhft, ANRrhlx<+ ds izeq[k lhesaV m|ksxksa dk o.kZu dhft, ANRrhlx<+ ds izeq[k lhesaV m|ksxksa dk o.kZu dhft, A
Describe the main coment Industries in India.

vFkok vFkok vFkok vFkok (OR)

NRrhlx<+ esa feyus okys izeq[k [kfut inkFkksZ dk o.kZu dhft, ANRrhlx<+ esa feyus okys izeq[k [kfut inkFkksZ dk o.kZu dhft, ANRrhlx<+ esa feyus okys izeq[k [kfut inkFkksZ dk o.kZu dhft, ANRrhlx<+ esa feyus okys izeq[k [kfut inkFkksZ dk o.kZu dhft, A
Describe the main minerals found in chhattisgarh.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& Hkkjr ds ekufp= esa fuEukafdr dks n'kkZb, AHkkjr ds ekufp= esa fuEukafdr dks n'kkZb, AHkkjr ds ekufp= esa fuEukafdr dks n'kkZb, AHkkjr ds ekufp= esa fuEukafdr dks n'kkZb, A
1 -1 -1 -1 - fnYyh ls eqEcbZ jsyekxZfnYyh ls eqEcbZ jsyekxZfnYyh ls eqEcbZ jsyekxZfnYyh ls eqEcbZ jsyekxZ
2 -2 -2 -2 - dksydkrk uxjdksydkrk uxjdksydkrk uxjdksydkrk uxj
3 -3 -3 -3 - bfUnjk ikbUVbfUnjk ikbUVbfUnjk ikbUVbfUnjk ikbUV
4 -4 -4 -4 - fHkykbZ bLikr dkj[kkukfHkykbZ bLikr dkj[kkukfHkykbZ bLikr dkj[kkukfHkykbZ bLikr dkj[kkuk
5 -5 -5 -5 - cSykfMyk ykSg v;Ld {ks= AcSykfMyk ykSg v;Ld {ks= AcSykfMyk ykSg v;Ld {ks= AcSykfMyk ykSg v;Ld {ks= A

Show the following  in the Map of India-
1. Delhi to Mumbai rail route
2. Kolkata city
3. Indira points
4. Bhilai steel plant
5. Bailadila Iron-ore area.

vFkok vFkok vFkok vFkok (OR)
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Hkkjr ds ekufp= esa fuEukafdr dks n'kkZb, AHkkjr ds ekufp= esa fuEukafdr dks n'kkZb, AHkkjr ds ekufp= esa fuEukafdr dks n'kkZb, AHkkjr ds ekufp= esa fuEukafdr dks n'kkZb, A
1 -1 -1 -1 - NksVk ukxiqj dk iBkjNksVk ukxiqj dk iBkjNksVk ukxiqj dk iBkjNksVk ukxiqj dk iBkj
2 -2 -2 -2 - [kEHkkr dh [kkM+h[kEHkkr dh [kkM+h[kEHkkr dh [kkM+h[kEHkkr dh [kkM+h
3 -3 -3 -3 - psUubZ uxjpsUubZ uxjpsUubZ uxjpsUubZ uxj
4 -4 -4 -4 - egkunhegkunhegkunhegkunh
5 -5 -5 -5 - if'pe caxky dk twV mRiknd {ks= Aif'pe caxky dk twV mRiknd {ks= Aif'pe caxky dk twV mRiknd {ks= Aif'pe caxky dk twV mRiknd {ks= A

Show the following in the map of India.
1. Chota Nagpur plateau
2. Bay of Khambhat
3. The city of chennai .
4. Mahanadi
5. Jute producing area of West Bengal.

--------X--------


